
answers
Q. Find the Product.

 1.  6 x 2 x 5 = 60
   2.  (2 x 2) x 9 = 36

     3.  (7 x 11) x 1 = 77
 4.  (2 x 0) x 9 = 0

     5.  (13 x 2) x 3 = 78
   6.  6 x (5 x 2) = 60
   7.  (2 x 9) x 3 = 54
   8.  (4 x 2) x 3 = 24
    9. (7 x 9) x 5 = 315

Q. Write the missing number that makes
each sentence true. 

   1. (3 x 4)x 2 = 24
    2. (2 x 8) x 5 = 80

      3. (9 x 8) x 3 = 216
       4. (11 x 20) x 3 = 66

     5. 6 x (3 x 9)= 162
    6. 2 x (7 x 6) = 84
  7.  9 x 5 x 2 = 90
  8. (6 x 9) x 0 = 0

         9. (2 x 10) x 11 = 220
Q. Solve the word problems.

1 . Five baskets have 255 banana 
     Bananas in one baskets = 225 ÷ 5 = 51
     Bananas in 10 baskets = 51 × 10 = 510 
2 . People on 1 sofas = 3
     People on 4 sofas = 3 × 4 = 12
   3 . Three closets can store = 15 chairs.
     One closet can store = 15 ÷ 3 = 5 chairs.
     Five closets can store = 5 × 5 = 25 chairs.
   

Q. Use the Menu down below to find the cost.
1. 2 softy + 2 donut + 1 pizza

2 × 2 + 2 × 1 + 1 × 4
4 + 2 + 4 = $10

 

2.   5 cupcakes + 2 softy + 2 donut
5 × 1.5 + 2 × 2 + 2 × 1

7.5 + 4 + 2 = $13.5
3.  2 pizza + 5 donut

2 × 4 + 5 × 1
8 + 5 = $13

 

4.   1 softy + 1 pizza + 1 donut + 5 cupcakes
1 × 2 + 1 × 4 + 1 × 1 + 5 × 1.5  

2 + 4 + 1 + 7.5 = $14.5
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